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Physics Graphs and Diagrams- Energy
Show all of your work off to the right side of the diagrams.
[image: http://www.hk-phy.org/articles/roller_coaster/roller_1.gif]
1a) If there is 50,000 J of mechanical energy at any time in this roller coaster, label each cart with a magnitude of PEg and KE.
1b) Draw a bar graph for EACH of the four rollercoaster cart positions. Include Mechanical energy, Potential Energy, and Kinetic Energy in each BAR graph.
[bookmark: _GoBack][image: Possible bar graphs of kinetic energy, gravitational potential energy, and elastic potential energy for a pole vaulter right before leaving the ground]
2) Calculate the momentum of the two after grandma runs into her grandchild.
[image: https://lh5.googleusercontent.com/-tN9r7s8c7fM/TYw9220144I/AAAAAAAAAZ8/LGTv-oH0MSc/s1600/gradmaskating.gif]

3) Calculate the velocity of the 1000kg car. (Hint- be careful about directions!)
[image: http://www.mrwaynesclass.com/impulse/reading/pics/Elastic_Example.jpg]

4) Calculate the PE elastic. (Hint- you must find k via the formula for Newton’s 2nd law.)
[image: http://www.one-school.net/Malaysia/UniversityandCollege/SPM/revisioncard/physics/forceandmotion/images/workexample7.png]
5 Calculate the work for each diagram. Use W= F(d) cos 0 for ALL of the diagrams. 
[image: http://www.physicsclassroom.com/Class/energy/u5l1a7.gif]




6 Calculate the power needed to make it up the steps in horsepower. Hint- at the end you need to convert J/s to hp. 
(1 hp= 740 J/s, aka J/s is 1 watt)

[image: http://tap.iop.org/mechanics/wep/218/img_full_46427.gif]
Extra Credit- What is the runner’s PEg when he reaches the top of the staircase?
Extra Credit- What is the runner’s KE while running up the stairs?





[image: https://encrypted-tbn0.gstatic.com/images?q=tbn:ANd9GcSOuRTtyqku1IMp_gjHZX-HliiWxTuMZBhlTlDx3ReFlSuOy1EN]
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